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B %% T FJINI_Onload i $t

int v7; /7 [5p+8h] [bp-18h]
u? = a3;
v = @;
if € (*{int (==} (void))(*(_DWORD =)al + 24))()
|l (v3 = vd,
{uh = {{int {_ fastcall =)}{ JHIEnv #=, const char =)})wé->functions->FindClass}){
uh,
“comfitea/shield/PZapplication™)) == @)
|l €{int ( fastcall =){ JNIEnu =, int, char =%, signed int))u3->functions->RegisterNatives){uv3, vi, off 5884, 1) < @)
{
result o -1;
H
else
{
result = 65542;
H
return result;
b
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-pgtext: 00002840 loc_ 2848 ; DATA XREF: .data:0888500C | o
.pgtext:0068682848 ;  unwind {

-pgtext:BBBB2840 STCGHNE | p5, c11, [R6], {OzF8}
-pgtext: 00002844 LDCHE p8, c4, [R7], {6x13}
pgtextiBABB28BLY [
-pgtext:00002848 DCB  BzD

-pgtext:00802849 DCB @x1C

-pgtext:00002840 DCB a

-pgtext:8000284B DCB BxF@

-pgtext:888028L4C DCB B=83

-pgtext:0000284D DCB B=FC

-pgtext:0000284E DCB L

-pgtext:000028L4F DCB B=1C

-pgtext:00802850 DCB B=FE

-pgtext:00002851 DCB B=F7

-pgtext:88882852 DCB B=CAa

-pgtext:088802853 DCB BxFD

.pgtext:B00002854 DCB Bx39 ; 9

-pgtext:00002855 DCB 8z1C

-pgtext:8BB02856 DCB Bx28

-pgtext:80802857 DCB Bx1C

-pgtext:00002858 DCB a

-pgtext:88802859 DCB BxF@

-pgtext:B00080285A DCB B=4n ; J

-pgtext:00002858 DCB O=F8

-pgtext:B808808285C DCB 8x31 ; 1

-pgtext:8880285D DCB Bz1C

-pgtext:0000285E DCB B=28

-pgtext:0000285F DCB 8z1C

-pgtext:00B02860 DCB a

-pgtext:00802861 DCB OxF@

-pgtext: 80002862 DCB B=4D ; 0

-pgtext:880802863 DCB B=F8

.potext: 000802864 DCEB 8=29 ; )

-pgtext:00002865 DCB 8=1C

-pgtext:00002866 DCB 8x28

-pgtext:08002867 DCB B=1C
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int fastcall sub 2848(int al, int a2, int a3)
{
int v3; // ré6
int vh; F7 vV
int u5; /F ¢S
int ve; 77 rh

3 = ai;

vl = ad;

18| vs = a2;

11| vé = operator new{{unsigned int)}&elf hash_bucket[6]);
12| sub_13D4();

13| sub_28FA{u6, ulh);

14| sub_28FE{vu6, v3);

15| sub_2988{v6, uS);

16| sub_2B92B({u6);

17| sub_2BE4{u6);

18| sub_298C({u6);

12| sub_2A16(uv6);

28| sub_Z2BLB(UG);

21| return sub_2FE4{uvc);
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int _ fastcall sub 1768{int a1}
W
int vi; /7 ri4

sub_1786(a1);
sub_1722({u1);
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Wowl = al;
P

H  return sub 1748{u1);
)
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